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# SIRETIL
beta = 0.002

beta*x0/gamma

pr1nt("ﬁ21§ﬁ_¢_)t*ﬁ 3", r0,"T9")

for 1 in range(5000):
= dt*(i+1)
XX = X + dt*(-beta*x*y)
yy =y + dt*(beta*x*y-
gamma*y)
zz = z + dt*(gamma*y)
= XX

y=yy

Z=277

tList.append(t)

xList.append(x)

yList.append(y)

zList.append(z)
plt.plot(tList, xList,
color="#0000ff")
plt.plot(tList, yList,
color="#ffOOO0")
plt.plot(tList, zlList,
color="#00ffOO")




# MIT=EIZBTEHDN AN zz = z + dt*(gamma*y)

beta = 0.002 X = X

y=yy

7=27

tList.append(t)

xList.append(x)

yList.append(y)

zList.append(z)
plt.plot(tList, xList,
color="#0000ff")
plt.plot(tList, ylList,
color="#ff0000")
plt.plot(tList, zList,
color="#00ff00")

for 1 in range(5000):
= dt*(i+1)
if t > 4.
beta 0.002*%0.5
XX = X dt*(-beta*x*y)
yy =y dt*(beta*x*y-
gamma*y)
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